
METAL MESH OTTOMAN





Qty

Box 2 (Small Box)

Left & Right Hinge Set

Pistons

* (4 for Support Bar, 8 for 2xHinges)
+4 bolts with  super king for the additional support bar. 

Red Safety Lock

M8*20mm Bolts H22

M8*15mm Bolts

and a Screwdriver

M8*25mm Long Bolt

1

2

1

12

3

1



Metal Mesh Frame

Metal Support Bar
* 2x Support Bars with Superking Size

M6 Bolts, Nuts & Washers

Foam Pads for Support Bar

Qty

1

1-2

4

4

Box 1 (Large Box)

and a Screwdriver



Place the hinges on the siderails. The hinges should mirror each other as shown above.

If your hinges are pre-�tted, skip to step 5.



Use the M8x20mm bolts to secure the hinge to the siderail.

You must lift the hinge in order to insert the last screw.



6
Use an M8x25mm long bolt to secure the components in the order shown above.

Secure the siderail to the headboard using the pre-�tted �xings and tighten the nuts.

5



7

8
Attach the footboard to the siderails using the pre-�tted hook �xings, then tighten the nuts. 

If you ordered baseboards, insert them now.



Place the support bar(s) inside the bed.

9

10



11

12
Secure the support bar using two M8x20mm bolts.  Repeat this step on the other side of the bed.

Place the metal mesh frame onto the bed.



13

14

Use the M6 bolts to secure the base to the left and right hinges.



15:

16:
Tighten the two nuts on both sides.

Use an M8x15mm bolt to secure the piston to the metal mesh bed frame.
Repeat this step on the opposite hinge.



17:

18:

Attach the remaining piston to the hinge using the M8x15mm bolts in the locations shown above.



Notes
All beds are bespoke and handmade, therefore please allow a tolerance 
of 1-2 inches on expected dimensions. 
We have tried to make this product as easy to assemble as possible. We 
pre-fit some fixtures for your convenience - please note they may require 
slight adjustments.


	page 1 cover
	page 2
	page 3 -2
	page 3
	page 4
	page 5
	page 6
	page 7
	page 8
	page 9
	page 10
	page 11
	page 12
	page 13 back

